Teacher Notes on S-O-L-V-E  Lab Stations
	S
	Students usually try to evaluate the expression using the calculator but learn that they can’t, because of the number of digits in the value.

They need to discover the pattern:

31
3

32
9

33
27
34
81
35
243
36
729
37
2187
38
6561
39
19683
3107 will end in a 7 (powers of 3 repeat in groups of 4, 107/4 = 26 complete patterns with a remainder of 3, so 3107 will end in the same units digit as 33.) 



	O
	Use the calculator to add the next fraction repeatedly until the sum is greater than 3.

When n = 10, the sum is 2.9828968254…

When n = 11, the sum is 3.019877345…

n = 11

	L
	Using a table, enter n2 – 26n +30, we see that when n = 46, the value of the expression is 950 and when n = 47, the value is 1017.

n = 47

Using a graph, enter the expression in y1 and 1000 in y2.

Determine a window that will allow the positive x-value for the point of intersection to be found.
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	Looking for  
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 to be a perfect cube.

Or, using the prime factors of 180, we’re looking for 
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to be a perfect cube. 

We need to multiply by  
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 or 150.

	E
	Day n

# of bacteria

Power of 2

June 1

1

21-1
June 2

2

22-1
June 3

4

23-1
June 4

8

24-1
June 5

16

25-1
June 6

32

26-1
June 7

64

27-1
Question 1: 

What is 2 20-1?  524, 288

Question 2: ¼ of 524, 288 = 131, 072

When is 2 n-1 = 131, 072 ?

2n * 2 -1 = 131,072

2n = 262,144

2n = 218
n = 18

On June 18, the container is ¼ full.
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